
Warm up Problems

1. 

2. 

3. 

න

1

2
𝑡

1 + 3𝑡2
𝑑𝑡

න
sin 𝑦

𝑦
𝑑𝑦

න tan 𝑥 𝑑𝑥



Integration by Parts
To find our formula, we use the product rule (don’t write 

this down):

- We pick 𝑢 and 𝑑𝑣
- After using formula, you still have 𝑥’s



Ex. ׬𝑥 cos 𝑥 𝑑𝑥



When picking 𝑢, go in LIATE order:

Logarithm

Inverse Trigonometric

Algebraic (Polynomial)

Trigonometric

Exponent



Ex. ׬𝑥 sec2 𝑥 𝑑𝑥



Ex. ׬𝑥2𝑒𝑥𝑑𝑥



𝑥𝑒−𝑥𝑑𝑥׬ .1

−𝑥𝑒−𝑥 − 𝑒−𝑥 + 𝑐

𝑥׬ .2 ln 𝑥 𝑑𝑥
1

2
𝑥2 ln 𝑥 −

1

4
𝑥2 + 𝑐

𝑥2׬ .3 sin 𝑥 𝑑𝑥

−𝑥2 cos 𝑥 + 2𝑥 sin 𝑥 + 2cos 𝑥 + 𝑐

𝑥׬ .4 cos 3𝑥 𝑑𝑥
1

3
𝑥 sin 3𝑥 +

1

9
cos 3𝑥 + 𝑐



Ex. ׬ ln 𝑥 𝑑𝑥
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